
1Luggage ideas.

Tip:
Fit all parts and screw on not too strong.
After mounting all parts, the screws should be tightened
to the torque specified.
This guarantees, that the kit is mounted without tension.

3

5

7
6

The kit includes the following parts:
Quant  item no.               description Quant  item no.        description

1 700007643 carrier left
1 700007644 carrier right
1 700007645 mounting adapter front left
1 700007646 mounting adapter front right
1 700007647 mounting adapter top left
1 700007648 mounting adapter top right
1 700007649 bracing bow
4 150.763 allen screw M 6 x 20
4 150.970 filister head screw M 6 x 30
2 150.789 allen screw M 8 x 55
4 150.784 allen screw M 8 x 30

4     151.070 lock it screw
4     151.071 lock washer
12 150.809 washer ø6,4
6 150.810 washer ø8,4 
8 150.799 self-nock nut M6
2 151.143 spacer ø13 x ø9 x 12 mm

Assembling instructions

Side carrier

KAWASAKI KLR 650
US-Model from 2008

Item-No.: 650.206 00 01 black

Side cases
Top cases
luggage frames
Lock it system
Softbags
Aluminium luggage
Leather luggage
Protection bars
Center stands
Chopper parts
Accessories

1
2

4

4

18
08

11



2Luggage ideas.

3

2

1Preparing:
Dismantle blinkers. Screws are obsolete.

Fastening of the adapters left+right top:
scond fixing point at the original position
of the blinkers together with them.
Use filister head screws M6x30 with
washers ø6,4.
Inside use washers ø6,4 and self lock
nut M6.

Assembling instructions

Side cases
Top cases
luggage frames
Lock it system
Softbags
Aluminium luggage
Leather luggage
Protection bars
Center stands
Chopper parts
Accessories

Fastening of the adapters left+right top:
At the front bolting of the original rear
rack. Original screw is obsolete.
Use allen screws M8x55 with washers
Ø8,4. Sandwich spacer  Ø13xØ9x12mm.

2x

2x 2x

4x

8x

4x

Fastening of the adapters left+right front:
between frame and footrest bracket.
Use allen screws M8x30 with washers
ø8,4.

Preparing:
Dismantle footrest brackets.
Screws are obsolete.

4x 4x

Side carrier

KAWASAKI KLR 650
US-Model from 2008

Item-No.: 650.206 00 01 black



3Luggage ideas.

6

5

4

4x

Attention !
Don´t overturn the Lock it screw !
Rotate slowly one quarter of a turn until screw engages.

Fastening of carrier left+right:
The carriers will now be fixed to the adapter with Lock it -screws

Fastening of Lock it screws:
The Lock it screws will be fixed at the carriers left and right with
lock washers.

You have to do it only once - the srews and lock washers remain
at the carriers.

Assembling instructions

Side cases
Top cases
luggage frames
Lock it system
Softbags
Aluminium luggage
Leather luggage
Protection bars
Center stands
Chopper parts
Accessories

Attention !
Don´t overturn the Lock it screw !
Rotate slowly one quarter of a turn until screw engages.

Fastening of carrier left+right:
The carriers will now be fixed to the adapter with Lock it -screws

Side carrier

KAWASAKI KLR 650
US-Model from 2008

Item-No.: 650.206 00 01 black



Hepco & Becker GmbH
An der Steinmauer 6

D-66955 Pirmasens

Tel.: +49 (0)6331 - 1453 - 100
Fax: +49 (0)6331 - 1453 - 120
eMail: vertrieb@hepco-becker.de
www.hepco-becker.de

4Luggage ideas.

Sold separately -  item-no: 151.050
It is recommended to use one on each side of the side-carrier,
instead of the ordinary lock-it screw, for theft protection.

Anti-theft-device

7 Fastening of the bracing bow left+right:
over the fender under the number plate light.

The bows will be fixed to the carrier with filister head screws M6 x20,
washer ø6,4 and self lock nut M6.
The adapter to hook in the fixing lock will be screwed too.

Assembling instructions

Side cases
Top cases
luggage frames
Lock it system
Softbags
Aluminium luggage
Leather luggage
Protection bars
Center stands
Chopper parts
Accessories

each 4x

Hint :
The adapters are enclosed with the side cases.
They are not included in the side carrier set.

Control all screw connections after the assembling for tightness!
Please notice our enclosed service information.

Also available:
Engine guard Item.-No.: 502.206
Rear rack Item.-No.: 650.206 01 01
Center Stand Item.-No.: 505.206 00 01

Side carrier

KAWASAKI KLR 650
US-Model from 2008

Item-No.: 650.206 00 01 black


